WEEKLY QUALITY CONTROL MEMO № 4: May 8, 2008
POINT 1: 

То есть
In Russian, when то есть (“i.e.” or “that is”) is used it is often followed by an explanation consisting of an independent clause that begins with a verb that has no subject---the subject has been omitted because in Russian it is generally clear what is being referred to. In English this is not only ungrammatical, it culminates in what is termed as “ambiguous reference.” This means that it is unclear to which noun the verb refers to as its subject. Therefore, either a noun or pronoun must be used as the subject. If the independent clause ends the sentence, a semicolon must be used before the coordinating conjunction. Sometimes a way around this is to use the gerund form of the verb, which also changes the clause to a dependent clause, obviating the use of both pronoun or noun and semicolon. Examples:
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For LC polymers with main-chain mesogenic groups, this value corresponds to the boundary state of high-molecular-mass polymers [12], that is, exceeds the threshold of the molecular mass dependence of phase behavior.
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For LC polymers with main-chain mesogenic groups, this value corresponds to the boundary state of high-molecular-mass polymers [12]; that is, it exceeds the threshold of the molecular mass dependence of phase behavior.
or
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For LC polymers with main-chain mesogenic groups, this value corresponds to the boundary state of high-molecular-mass polymers [12], that is, exceeding the threshold of the molecular mass dependence of phase behavior.
POINT 2:

When numbers are used generically to indicate an amount, that is, without a widespread accepted unit of measurement, if the number is less that 11, it should be spelled out.  Examples: 

The unit was 8 cm long.

In the run, three units were produced.

Note 1:  When numbers are spelled out, an en dash cannot be used to indicate a range.
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In the run, 8--10 units were produced. 
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In the run, eight to ten units were produced.

POINT 3:

Mr. Perkin-Elmer or Mr. Perkin and Mr. Elmer?
You no longer have to worry whether products from that famous firm are designated Perkin-Elmer or Perkin--Elmer. A visit to their website proved that the official spelling is PerkinElmer, with no space between the names.

POINT 4:

En dash and spacing

Two of the most widespread uses of the “--” (en dash) are to designate a range or to indicate a minus sign in an operation of subtraction.  The main difference is that for a range, there is no space between the preceding item and the “--” or the subsequent item and the “--.”

A range of 15--30 km. (range)

30 -- 15 = 15 (subtraction)

Note: In a range in which minus signs appear, an en dash cannot be used. This must be spelled out with the word “to.”
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We observed that the optimal range was --15----10. 
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We observed that the optimal range was --15…--10.
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We observed that the optimal range was --15 to --10. 

POINT 5:

Where, oh where, is my MGU?
We are now making it official for universal usage: a Translation Services memo will be issued and a change made to the HSG.  The territory on which Moscow State University is located is Leninskie gory not Vorob’evy gory.  Please use this in addresses.
